GN 617.1
LETS T

- BB B RN AR,

- BLEDRRA,
mEREEREEEPABRCRSEMH, TXWEHRLEE, WE
. WU, AR LR AL B A
& B AR B AR MR R (AKE),

A EHEsARNEAHTA A £,

v WRLSEHE RIS, W AREEEALRENEERE
i

GN 609(% L. £4057), Wit EAKE,
CGN617 1% Hsi o EHEA T T UNRENELEN T 5.

1
R

A AK #l
(%t | 30 70~ B #H)

==

|3

d1
= E HF FR~F S E BE
) d oo L di 6g D | I 12 13 s f['-ﬁ’? ﬁﬁ?ﬁ g

GN 617.1-5-A 5 29 M10x1 21 17 5 5 15 12 7 17 23
GN 617.1-6-A 6 35 M12x1.5 25 20 6 6 17 14 9 24 34
GN 617.1-8-A 8 425 M16x1.5 31 26 { 8 23 19 11 30 79
GN 617.1-10-A 10 48 M20x1.5 31 33 10 10 30 22 19 45 130
GN 617.1-5-AK 5 29 M10x1 21 17 5 5 15 12 7 17 30
GN 617.1-6-AK 6 35 M12x1.5 25 20 6 6 17 14 9 24 48
GN 617.1-8-AK 8 425 M6x15 31 26 7 8 23 19 11 30 91
GN 617.1-10-AK 10 48 M20x1.5 31 33 10 10 30 22 19 45 163

@ ‘ ele‘a,'.nnu'l‘in“ “ELESA" and “GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




